NE HENEE RS RAEIRRRIOE T

2
=
S
2
1

SF0 64 124

A A s EOE H R A S

T e 7 B 5 T



1. I

2. i

4. fiL

5. i

T * HE

4 NFHENEE R IRAERARICR T 5
4 UNEI=E ST
b H B A
EAT (B) HFR BV KE (FER 1 C) (KP_532.2
(E) BEE EATH JUEERE EA)UEET C) (KP 590.7
(B) H=FR JWEFEE AWIH (ZR]JCT)
(F) HFR —FI —FRKER (—F1C0)
()
(€D)
€ED)
(€D)
¢ED)
=)
N
FEMNER G 1=
PRIEUE T 13, 900m2
LB Y 1T 1
ELET 15, 500m2
AR E ek L 15K
AL T 1%
] B &f 64 11H 290 ~ = & 114 6HA 5H (1650H[)



i P- 1
T # 4 ENGEEES IR N L G
H B fr | 4% il MMoBNE
a7 Y — MEEY T A1 36, 844, 539
oy Y—bL EV 9,953,176 |=r 27 V—Fk 840 o
DAt 840 o
A< T EVINT 12,846,000 |HI3< 3, 384 il
A 3, 384 ot
BT A1 14,045, 363  |#kf%H 145 t
A 137 t B 8 t
P CH&EY T A1 0
P CHEIEYERIE T EV 0 | P CHBIE 24, 982 ke
PCHiL V&S 24, 982 ke
R B L A1 21, 042, 665
HEK2EE T EVIIE 20, 295, 455 [Pk £ 97 T
A 97 (020
HEKE 698 m
A 698 m
AR T EVI 548,376 |FRALE 584 kg
B 584 ke
&4 L EV 57,000 |f&E4HK 5 T
5 T
TR T K| 1 141, 834 | FEIEM 14 T
14 T
YL T A1 174, 201, 442
F—R—1 A T EVIT 40,169, 147 |F——L A L 18, 210 hel
t=4cn 15, 503 ot Z0fih 2,707 ot
L_Y 7T A1 25,035,967 |7 A7 7L NEERAW 1,177 t
1,177 t
PRIRBAZK T EV 108, 996, 328 | FERRBAHAK T 12,796 hel
A 12, 796 ot
IR AR T A1 62,242, 827
Bh M T EVN 22,707,088 |H— KL —/L 746 m
Gr—Am 733 m Z Dt 13 m
A (%) YeBhib sk T EV 6,201,538 |IFA (1% SEBHIEMK 347 =
347 S
sy Bl RA TR B L T K1 5,373,394 | sy BT RR A BA 1L 442 i
442 ot
% T WBE LA T EV 27,960, 807 |¥& F¥BH LM 455 m
455 m
A0 PR E% T A1 2,430, 333
AT L EVN 1,119,313 |BEmfFER J 1 S Bk 3, 287 m
Al 568 m B1 2,719 m
RS ] T SR (nf) 331 ot
Cc1 331 ot
TR SR T A1 1,090, 005 |FL#RHHEAE 111 =




T % 4% [AFABAE {5 RS T3
LR
H B fr | 4% il MMoBl N R
Z DAh, 42 pre A3—1 (1) 69
TREEE T x| 1 221,015 |FRAGE "
B2 1 # c2 9
Cc5 10 #
W& AL EVN 162, 254, 495
R U T EE 157,691,371 |fh#E2EE (R 169
169 m
B 7 U — T A1 2,630,578 |z 2 U — b 25
B 25 o
1E < PEBH IR R T EV 212,490 |A 291
291 ot
KR L A1 1,720,056 |22 7 U— NFEmHE T 222
222 ot
MET A1 4,612,134, 742
Z DAt L N 4,168,244,303 |7 L ¥+ A b P CHRIROHEUE A 90 #
TL¥ ¥ A NP CHRRORE B 140 e
TL¥x 2 FPCHEROEWE C—1 34 e
TL¥x 2 FPCHEROEWE C—2 34 e
TL¥x 2 FPCHEROEE C—3 56 e
¥ ¥ A NP CHERWOEE D 128 e
TL¥x A NP CHRRORE E 70 e
TL¥ ¥ A NP CHRRORE F 131 *e
TLEx A KNP CIRROEEE A 90 e
FL¥x A NP CKRIOYEHR B 140 #
TLEx A NP CRROEEE C—1 34 e
TLEx A RPCRROEEER C—2 34 e
TLEx A LPCRROEEER C—3 56 e
FL Xy A NP CIKRIOSEH D 128 #
Ty A NP CRROLEER E 70 e
FL Xy A NP CKRIROYEHR F 131 #
A 392 m
B 303 m
C 393 m
D 278 m
E 306 m
F 573 m
A 2, 385 ot
B 1,907 ot
C 3,172 ot
D 1, 709 ot
E 1, 665 ot
F 2,994 ot




DS EBFE = R RS T

H fr | & & il Mos N R
11 t
A 164 o
B 910 o
A 12 (80
B 12 m
HEKET 97 =
HOKE A 698 m
BEK B 584 kg
iZ Y 5 AT
FEIEAR 7 AT
Bhi#M Gr—A—2B 105 m
Biit Gr—Am—4E 730 m
Bt Gr—S—E N »
Bt Grm—A—B2—1 156 m
Bt Gr—A—B]J 5 .
RERhIERE A1 1, 054 m
BEBHIER A'S 83 pre
ETFWBEIEM F 1 168 m
HTFWBGEM G1—1 287 m
Sy Bl R T B 1 442 of
TMHERE A2—1 26 pre
ERAEE A3 —1 (1) 48 H
HMFFERE D2—2 42 pre
FEMEEE B 2 e
B C 2 oo
A 3 H
B 3 H
Al 330 m
A2 330 m
B 400 m
A $23, L=205 1,611 A&
B ¢23. L=205 504 FN
A ¢$26, L=250 192 FN
B ¢26, L=250 72 *
1,385 m
A 9, 980 m
B 3,028 m
A 9, 980 m
B 3,028 m
Al 330 m
A2-1 488 m
A2-2 488 m
A3 330 m

\r




g

g

ERER KA RRRRRRRRBRRBARARRK AR AR KKK

=

DS EBFE = R RS T

L

[orBer BN R RN e RN e R I I e e I T R N B T I B B I I B I T B I I I B R B R N N e ) o)
— = O M M M o~ S
™ M <H I~ I~ L0 [aN] Lo
=« o
ey
=
j==%
<
(=) e
~ [=)
[aN] Lo
o
Z
> X
X —
Z
X B
- R
_ & I
E = =
S BE
D~ N M mw E=4 V)
<mmm <OMOAENEOIT =~ NMAS<nOAdEO I —~~XASE & ¥
o~ N
(=3 [ap)
[e2] [Ie]
& 2 =
[e2] [e2]
S o
O [ee]
[a2]
&
& o —
B & 2
m
i
=
=
B
VE)

5

N




i
i

\ T # 4 [AFEBEE (R USRS T8
LR
H B fr | 4% il MMoBl N R
B T &t K| 1 5,071, 151, 043
Ik T A |1 421, 153, 186
I fis T EVR 419,081,655 |MaEy T (B m) =
MET HH A |1 2,071,531 |Z Do THE EN
EEETHEE & X |1 5, 492, 304, 229
R K |1 357, 132, 922
Ll ik X |1 34,647,922 | LH FEMOERE
5 PSR O fRARL ST B
OO IE IR E
FE R K |1 322, 485, 000
Bl E Bt K |1 2, 215, 590, 000
METHEE § K |1 2,572,722, 922
T 5 K |1 8, 065, 027, 151
—RE P K |1 746, 772, 849
T {iAs K |1 8, 811, 800, 000




